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g .

T 2.

994 3.

T 4.

&1 AT WTghe WEATHI o6 2T ool
0 145 & | 2 wEAm B -

(A) 6,7
B) 7.8
© 8.9
D) 9,10

22 1% fpm [ ¥7
(A) 22
(B) 44
() 45
D) 90

2 flrarRl w1 Uak [T SBTEAT A # |
w0 W FHE TH IH A HF
urfereren gt ?

(A)
(B)

(©

S W AN B

(D)

férn T srfeRs o fera Wt waie =
& ?
2,3,0,-1,1,5,6,4,5,8, 11

(A) W = HyfEaen

(B) W= =05

(C) wifEaeHt = ageTh

(D) WIfaERT = HILA + Sgeieh

Qnp L.

The sum of squares of two successive
natural numbers is 145. The numbers
will be-

(A) 6,7

(B) 7,8 7

) 8.9

(D) 9,10

22 ; has how many l ?
(A) 22
(B) 44
(C) 45
Dy 90

Two coins are tossed simultaneously.
What is the probability of having at least

one head ?
@) 3
®) 2
© 3
® 4

What is the correct relation in the given
data?

? 188
aﬁ' 0,.-‘1, 1, 5, 6, 4 5, 8, 1]

e Ao —

(A) Mean = Median
(B) Mean=35
(C) Median = Mode
(D) Median = Mean + Mode
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A 5.

¥ 6.

7.

T 8.

T 9.

far=g (3, -6) 31X (-2, 6) Fa= =
=h 4 gt ?

(A)
(B)
©
(D)

1258
1358
14 %18
15 518

afE

17+15+13+11 +
St 3 e R v gt -

(A)
(B)
(C)
(D)

Tf% tan® + cotd =3 B AT

tan’g + cot?9 = ?

(A)
(B)
(C)
(D)

If% Sing -1 =

6
7
8
9

E
9

11
27

T -

(A)
(B)
(©
(D)

e afer 88 T Tl w e
o 100 an gwar 21 sHew =™

00

90°
30°
60°

T E ?

(A)
(B)
(©)
(D)

7 HH.

14 F.
22 9,
10 .

FAMT72 %

0 ﬁﬁemm/{s.

QucS. What is the distance between the points
' (3, —=6) and (-2, 6)

(A) 12 unit
B) 13 unit
(C) 14 unit
(D) 15 unit

fthe sum of a progression
17415 + 13 4+ 11 # ... is 72, Then |
number of terms in the progression will
be -
(A) 6

(B) 7
< 8 T
@ °

If tan6 + cotf = 3
then tan0 + cot?9 = ?
@A) 7

(By 9

© N

(D) 27

If Sin® =1 = 0, then 6 will be -

(A) 0°
(B) 90°
(C) 30°
(D) 60°

A wheel rotates 100 times to cover a
distance of 88 meters. What is its
diameter?

(A) 7cm

(B) ld4cm

(C) 22cm

(D) 10cm

|




¥ 10.

T 11,

¥ 12.

T 13,

w9 3 WY, 4 WAL, 3R 5 T,
TR AT A= T ) Uk A1 EH T
% feru forereran o | 98 W9 w1 ER
2 -

(A) 12 9,

(B) 8 WL

(C) 7.

(D) 6 Hm.

& AEUE! S HETAH WHEdeh X a9l
AN FEIEE (8 — 9x) B 1 AR
T W TH TGS (X + 3x) B A
FE S B

(A) (X2+3x)

(B) (x¥*—9Xx)

©) (xX*+9x)

D) (F=3x)

us wen ® 20 famnef &1 =&
WTwATERT T /ST 135 ¥ | S Sre
W & Tefaat Ui T | GUR w6
e Ueh farmedi & yTedieR 35 9@ TQ
U ZEt % 15 W 019 QAN E
T, YTGATER! o WIS T 20T 7
(A) 1355

B) 136

(©) 155

D) 1345

T e U T @t 20 Tt Hogw
o UFA § | 9t safrEl st wea
21 T 3ii W e o fEan S
a3 fermm Tl 8 S8 qu AR e ?
(A) 5
(B) 10
(C) 20
(D) 40

Qn 187 Three cubes of edges of 3 em, 4cm, and

5 cm respectively are melted to form a
bigger cube. The edge of the bigger cube
will be -

(A 12cm

{B) 8cm

(C) 7cm

(D) 6¢cm

Qn J. H.C.F. and L.C.M. of two polynomials

are X and (X* — 9x) respectively. If
one polynomial is (x* + 3x) , then
second will be -
(A) (X% +3x)
(B) (X*-9x)
© (x¥%2+9x)
B (x*—3x)

M here are 20 students in a class. The

mean value of their scores is 135. On
rechecking, two mistakes were found.
After correction, the marks of one
student was increased by 35 and the
marks of the other was decreased by
15. What is the mean value of the marks

after correction ?
(A) 135.5

@) 136

(C) 155

(D) 1345

}Qfsome people complete a work in 20

days. If the number of people is doubled
and work is halved, in how many days
will they complete it ?

& 5

(B) 10

(Cy 20

(D) 40
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v 14, aft 3J3x3032 =3 Frar % If 3J3%3%+3-92 =312,

a=2? thena=?
(A) 2 (A) 2
(B) 172 (B) 172
) 4 ) 4
™) 0 80

W\15. LRI 3Rl ¥ BO 3R CO www: };/15. In the given figure, the angle bisector
LB3R LCHFRUTEHE I x W of LB and LC are BO and CO
AR ? -respectively. What is the value of X ?

(A) 71200
(B) 130"
(C) 140"
D) 15¢°

Uy 16, 9 3A=4B=6CHA@A:B:C Qn16. f3A=4B=6C then A:B:C wil

T | B - be -

(A) 3:4:6 (A) 3:4:6

B 4:30 2 B) i3 2
(C): 614 3 &) B4 3 )’
D) 4:3:2 (D) 4:3:2

e 17. m ﬁ!‘ﬁ'v'f o wufaa e wi Qn L2 Number of axis of symmetry in an

HEE - : isosceles traingle is -
(A) 3 (A) 3
B) 2 | (B) 2
© 1 : @ |

(D) O (D) 0
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Py
s 18, A a+b=23R 1+ lz=2d& 0 .Ifa+b=2and;+g=2,then

a“+b3sﬁrmﬁm? ° a’+bPwillbe- '
(A) 1 A 1
(B) 2 (B) 2
c) 3 € 3
D) 4 (D) 4

9= 19 !ﬁgi HATeRfa § Oqﬁlwmim Qn/ In the given figure O is the center of
PA, PB 3ueh! vast @ # | af circle and PA, PB are its tangents. If

PA = 8 &t 3k PO = 10 @i, &f PA =8 cm. and PO = 10 cm then what
A OB T |1 =T 8011 7 is the value of OB ? A
/
(A) 49, (A) 4cm
(B) 39, (B) 3c¢m
(C) 59, (C) 5¢m
(D) 6 4, (D) 6ecm
9 20. 480 a4 g- _ }020’ -&% is equivalent to -
(A) 20% (A) 20%
(B) 40% (B) 40%
(C) 25% © 25%
(D) 8% D) 8%
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U 21,

e 22,

™ 23.

9 24.

¥ 25.

IR RIS S ITANT AT S
3

(A) TSI sl HIYH

(B) SO &l 419

(C) 53 % H9H

(D) T H HE TEl

U Sierd qel @l 3 8 m ST 3R
Tort Ier et 3I 6 m =TTt At fereemas
1 qRumTs E-

(A) 10m

(B) 1fm

(C) 2m

D) A

TS WY U WHoe | n Mierat
H AT ¥ A gH Ml A
eI m 197 et v 3 | el
AT T O I A B -

(A)
{B)
(C)
(D) 2y

mng
mnv

mnvg

h <V

U A g eal i Jag W 60
kg ¥ 7 gedt ®it g UL IWRT A9
-

(A) 60 kg wt

(B) 6kgwt

(C) 60x9.8 kg wt

(D) ;YA

A W S G 10% et @
IqeH T Fl W e e -
(A) 20%

(B) 40%

(©) 36%

(D) 38 & I i

\ v ~

def. Angstrom is the unit used to express -

(@A) Length
(B} Mass
(C) Time

(D) None of these

2. A man walks 8 m towards Fast and then

},/

6 m towards North. His magnitude of
dis placement will be -

@) 10m

(B) 14m

{(C) 2m

(D) Zero

g,udﬁ' machine gun fires n bullets per second

[2hia!

Q2.

/st.

/

and the mass of each bulletis m. If the
speed of bullets is v, then the force
exerted on the machine gun will be -

%

(A) mng

@ mnv

(C) mnvg

(D) v, -
g

A body wéight 60 kg on the earth’s
surface. What would be its weight at the
centre of the earth -

(A) 60 kg wt

(B) 6kgwt ’

(C) 60x9.8 kg wt

D) Zero

When the momentum of a body decreases
by 10%, its Kinetic energy decreases by -
(A) 20%

(B) 40%

(C) 36%

3y Nonc Qf these

~
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g 26.

9 27.

o9 28.

T 29,

v 30.

Ue U & e T o W o S

TR o AT BT § Tl -

(A) 1 38T g Al §

(B) @RI GHI=T it | Afedd 2 €

(C) =T I gar H sy 39 fasfia
H

(D) T 1 AR a3 8

T YT i foRtur aoeet zuw |

30° a1 THI0T FATRL AT BTl & Ar

QA 0T EA -

30°

45"

(€) 55

(B) 60°

T 7 THaR & A W a6 e
Eceocnioakde e Sk i k|
3

(A) TR

(B) 5

(A)
(B)

(C) T AR FHT AT

(D) Ter Jawrrg 78T

U T WA BT E -

(A) HieX

(B) Tfem

(C) =T &

(D) T HIE AHF Té Bl

= o ¥ 9 | Yy T "
fors A v 4 s fermfera gmm-

(A) =T
(B) e
(C) S
(D) &1

Qn 26.

Qn27.

Qn 28.

/e.’n29.

Qn 30.

A fan produces a feeling of comfort
during hot weather because -

(A)
(B)

Fan supplies cold air

Our Perspiration evaporates
rapidly

(€) Our body radiates more heat in air
(D) Conductivity of air increases

If a ray of light incident on a plane
mirror is such that it makes an angle of

30" with the mirror, then the angle of

reflection will be - :
) 30° \
®) 45° 7

(Cy 55°

(D) 60°

When we pluck the wire of a sitar, the
waves produced in the wire are -
(A) Longitudinal

(BY Transverse
(C) Sometimes longitudinal and
sometimes transverse

(D) Elecoromagnetic

The unit of refractive index is -
(A) Metre

(B) Degree

(C) Dioptre

(I>y It has no unit

Which of the following colour of light
undergoes the maximum deviation while
passing through a glass prism?

(A) Red y

(B) Blue

() Violet

D)

Green

NTSE-I



U9 31,

o 32.

T 33.

994 34.

fasr 1 & P 3R Q & dt= afunHd
wferrer gFT -

(A) 7Q

B) 20

(©) gg

D) 1Q

R E

mnsma;w frr 7 v

o g grft v -

(A) et fao nu & @ A A
REEIRECEEIE okeicei ke e A
a

(B) Hahd @i =i wife | i ahit

(©) e v o g 9
m ’

(D) T A B

arany fe o fasor g -
(A) CO+H,+CH,

(B) CO,+CH, +H,S
(C) CO+H,

(D) CH,

WA, VIR 3T Stfads ht IH
UM & WEG ATHY0T o ggd HH °
afeed T s W Frafeafaa ®
W wE T Em-

(A) ST, SR, yerRt

(B) SIS, VIR, Sict

(C) VIR, SIS, ST

(D) TR, STe, TRt

1. The equiw:alcnt resistance between P
and Q in Fig-1 will be -
(A) 7Q
B) 20
© 3Q
o) 1Q

zJL 271

8
Flg-
/M The strength of a magnetic field of
magnet increases when -
) The number of magnetic lines of
forces passing through a given area
mereases.
(B) Strength of the pole increases
(C) Distance between the magnetic pole
mereases
(D) Both Aund B

Qn 33, Biogas is a mixture of -
(A) CO+H,+CH,
®) CO,+CH, +IH,S
(C) CO+H,

(D) CH,

‘

34, Onarranging water, sugar and oxygen
in in(: reasing order of attraction between
their particles. Which of the following will
be the c.<;rrecl arrangement-

(A) Water, Oxygen, Sugar
(B) Oxygen, Sugar, Water
(C) Sugar, Oxygen, Water
@) Oxygen, Water, Sugar,

NTSE-I



99 35.

U 36.

9¥ 37.

9ed 38.

U 39.

gv 40.

frefafaa ¥ @ @ fevge yaa
gefdia s -

(A) R 1 It forrm

(B) = faemm

(C) W 1 T | S

(D) fawm

Hrfiforam it Ty w@EE 12 )
mmmﬁsﬁaﬁﬁaﬁﬁw

(A) @13
(B) =W
© [
D) =

AR o B AT Tl ZeaHH
AT 35 AT 37 & 3 g
A geit-

(A) 18, 20

(B) 20, 18

© 17, 18

(D) 18, 17

Fe, O, +2Al —> ALO, + 2Fe
Iudtaa sifutrar fre uam =t §-
(A) TEISH

(B) Taamsm

(C) fawme

(D) Tafoeeme
Na,80, % wrefta faeram &1 pH uH
Frm-

(A) 7

(B) 7HFH

(C) 79 #ferm

(D) Y=

12.044 x10% O, Uil @ Tz
1 TEaHTA Teha=n grar & ?

(A) 8g

(B) 169

(Cy 32g

(D) 649

Qn 35, Which of the following will show Tyndall
effect -
(A) Solution of common salt in water
(B) Starch Solution
() Solution of sugar in water
(D) Vinegar

Qn 36-The atomic number of Mg is 12. The
/6/111‘umber of electrons in its M shell will
be -
(A) Eight
(B) Ten
@ Two
( 15) Zero

y The atomic masses of two isotopes of

chlorine are 35 and 37. The number of
neutrons will be -

@ 18, 20

(B) 20, 18

(C) 17, 18

(D) 18, 17

: Fe,0, + 2A1l —> AL O, + 2Fe
The above reaction is of which type -
(A) Combination
(B) Dissociation
(C) Displacement
{D) Double displacement

/Oulé. The aqueous solution of Na,SO_ will
have a pH value -

& 7

(B) lessthan?7
{(C)y more than 7
(D) Zero

On40. What is the mass of 12.044 x10?°
number of O, molecules?
(A) 8¢
Bf 169

@ 32¢g /b

(D) 64g

NTSE-I
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T 41.

/U 42.

T 43.

T 44.

9o 45,

T 46.

e Ted T geraieh (oo 2,8,4

¥ 1 9 sngfer sradwnolt & fwg
AT ATEA o Ao 8-

(A) T g a9 91 e

(B) 1Y Hgg au die e

(C) e Wgg JuT dra SR

(D) <ied qg a1 = Ser

frefafas & @ frw egeEE 4
Toray gran v 2-

(A) CH,

(B) CH,

(©) C,H,

(D) C,H,

ST % WS IR E -
(A) Y S HEA

(B) 3H qq=ga

(C) , aToT¥iie] YaTHt =i g2
(D) A9l C3HEl

Freferfiaa o & forad forer dae
7Y -

(A) O,

(B) CHCI,

(C) NaCl

(D) CClI,

C,H,OH %1 Wiz H,S0, ¥ 443 KW
arfafaran & e E AT i -

(A)
(B)
(©)
D)

2o, Frateafiaa ® @ fro waew
o AGAR € -

(A) T wd udA

(B) 221 w0l U

(C) =78 il udiA

(D) 2R el wii

C,H,
CH,CHO
CH,COOH
CH,COCH,

_9)14{ An element has electronic configuration

Q2

Qn 43.

}p&t.

OQnds,

y&

. (B)

2, 8, 4. It belong to which group and

period of the modern periodic table -

(A) Third group and fourth period

(B) Fourth group and third period

(€ Fourteenth group and third period
AD) “Fourteenth group and fourth period

Which of the following hydrocarbon
have a triple bond -

(A) CH,

(B) C4H,

(C) CH,

D) CH,

Obective of roasting of ore is -
A8) To oxidize it

(B) Toreduce it

(C) Toremove volatile matters

{®) A and C both ¥z

Which of the following has electrovalent
bond - : "

(A) 02

(B) CHCI,

(€ NaCl

(Dy CCl,

The compound obtained by reaction of
C,H,OH with concentrated H,SO, at
443 K is-

(Ay C,H,

(By CH,CHO
(C) CH,COOH
(D) CH,COCH,

v

Teflon is a polymer of which of the
following monomer -

(A) Mono fluoro ethene

Tetra tluoro ethene

(C) Difluro ethene

(D) Trifluoro ethene

NTSEAI



I 47.

T 48

T 49.

g 50.

¥ 51

uw uriifeerfen-am A erte AR W
A T B & | St e o e
aftnfea #-

(A) IERF

(B) Sqwrar

(C) H9=eF

(D) Suder gt

TS 3 T Y o e e
I A @

(A) TEFRi

(B) TEISH

© T
(D) TERITeR

fegdam F wfteor # wEHITvEHE
el ht T T #-

(A) < wifeer o

(B) SRR FaHH . -

(C) T weT H

(D) I 9Ky (eTrt) o

forefefera § & #w e 0w €- }u/

(A) T, BT, TYCTRIITH
(B) YT, TRV, B
(C) W, %, FBw

(D) ek, %, T

S Al Fe) @ gEwm aH
T HEY =S A -

(A) LA

(B) S H g

(C) Y TehiHT

(D) ST

Q/nd?.’ Ecosystem comprises both abiotic and

Qn4

biotic component. Biotic component of
an ecosystem consists of -

(A) Producers

(B) Consumers

(C) Decomposers

(D) All the above

In human beings suger level in blood is
controlled by -

(A) Adrenaline

(B) Eestrogen

(C) Insuline

(D) Thyroxine

In whittker's classfication unicellular
organisms are grouped under -

(A) Kingdom Protista

(B). Kingdom Fungi- - -

(€) Kingdom Monera

(D) Kingdom Plantae

n 30.-Which of the following are simple

o1,

tissues -

{A) Parenchyma, Xylem, Collenchyma

(B) Parenchyma, Collenchyma,
Sclerenchyma

{C) Parenchyma, Xylem, Sclerenchyma

(D) Parenchyma, Xylem, Phloem

The best way to get rid of non
biodegredable waste is-

{A) Dumping

(B) Burying

(C) Recycling

(D) Buming

NTSE-I
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9o 52,

g™ 53,

GvH 54.

¥ 55.

T¥ Se.

ron wht ek aven foe, s goen
¥ off 3iR ufewat ® fererad o
for=ama 41 | A T 8 Ykt -
(A) TS T

(B) fasiisstt

(C) &Fa #ARDb

(D) TR § d FE Tél
Forefertiaa o & feruet ATsg o
o eyl fereh €1l @

(A) Bir=;

(B) EglsEat

€) FRt

(D) TS

eTEs A &, WS G aifen -

(A) ToH @ e G i |

(B 2 vd & wefer g st ¥
(C) o yoisfid =& arEr S |

(D) 7 gt # & aa )
arefies AT W SenEd & 4o
A W YHR ® HE WA T
sfires gorfaE g g-

(A) 3R

(B) WFE

(© TF
(D) i@l

Frefertiaa o & fem A8 & wwraE:
et Tferai urg et §-

(A) el fad

(B) HX

©) =

(D) Heil

Qns

Q

}Sﬁ.

Asha found a plant possess tap root and
reticulate venetion in leaves, This plant
may be -

(A) Monocot

@) Dicot

(C) Bothaandb

(D) None of above

. Which of the following plays an

important role in nitrogen cycle -
{A) Yeast

(B) Nitrobacter

(C) Mucor

(D) Spirogyra

Ginger is a stem and is not a root
because -

(A) TItstores food material

(B) Ithas nodes and internodes

(C) It lacks chlorophyll + -

(D) It grows horizontally in the soil

. Which organ of the body'is most affected

by excessive intake of alchohal -

(A) Stomach
(B) Lungs
(C) Liver
(D) Spleen

In which of the following plént generally
rood nodules are found -

{A) Black piper

(B) Pea

(C) Onion

(D) Radish

NTSE-I
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oA 57. afk feramarst e dtar wRgrs /Qﬁ If a heterozygous tall plant is crossed

UeH S8.

T 59.

U 60.

dr did § T (Hw ) g #,
Arra aTedl e ST B -
(A) 50% =

(B) 75%

(©) 100%

(D) 25%

Feraferfiaa W @ fraw ware <@ T _

-
(A)
(B)
(©)
(D)

sfea=
e
HETT
for

l

with a homogygous dwarf plant, the
proportion of dwarf progeny will -

(N 50%

(B) 75%

(C) 100%

(D) 25%

Qun. 587 Which one of the following does not

have valves -
(A)
(B)
(C)
()

Auricle
Ventricle
Artery

Vein

Forerferfiam & @ %= fammoy sifm 7w Q)S‘{ Which one of the following is not a viral

T E-

(A) Tifemt
(B) TIERGH! I
(C) wEH

(D) &M

dtel § wew (WHaE ) W uHa
v Pt wt HaE O -

(A) WIS T

(B) @Rl

(C) Ol T

(D) IRF a4l

Q

disease -
{A) Polio
{B) Mumps
(C'y AIDS

{D) Cholera

7 The main function of phloem in plants

is the conduction of -
{A) Food

{B) Minerals

(C) Water

(D) all the above

NTSE-II
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e 61, urfort foRa fawa g o ufirg fagm Qn 61. In which subject area was Panini a great
a? schalar?
(A) 91 US ST (A) Language and Grammar
(B) AR (B) Ayurveda
(C) Eifaw fagm @ Astronomy )
(D) Sita fFgm (D) Biology
U 62. WTHIUA & e g5 fheh s g2 Qn 62. Between whom was The third battle of
a1 ? Panipat fought ?
(A) ¥ U R {A) Hemu and Akbar
(B) B91g UH VIR (B) Humayun and Shershah
(C) S e 3ETE V8 2AeaTed (C) Marathas and Ahmadshah Abdali
(D) 31 W@ g oI (D) British and Teepu Sultan
U 63. WIS W 30k i fohl w10 | Qn 63, By which name was Iraq Known in
ST T ar? ancient time ?
(A) ECiic] (A) Bahylon
(B) wEHITAT (B) Abyssinia
(C) wfen (C) Syria
(D) Em=IfEr (D) Mesopotamia
T 64. ﬁ?-‘!‘ﬁfﬁ aef'ﬁﬁiﬁﬂ A AT On64. Who was the first hindu courtier
o fig =Tl i o ? accepted Din-e-Hahi- ?
(A) 2ETHA (A) Todar Mal
(B) WHfHE (B) Man Singh
(C) siEa (C) Birbal
(D) wEEaH (D) Bhagwan Das
e 65. 'FguHita’ @ foRwe g fmar en ? )()),65 Who tmptemented the do ctrine of
- lapse ?
(A) e SR (A) Lord Dalhousic
(B) @ T (B) Lord Vesley
(€ TEFHAE (C) Lord Canning
(D) &E ersre! (D) Lord Wellesley
U9 66, TATH! T TG HA TAT o1 7 Qn 66. When was the battle of plassey fought?
(A) 9T 1556 {A) 1556
(B) ¥ 1755 (B) 1755
(€) ¥ 1757 (©) 1757 }
(D) 4 1857 (D) 1857 '
NTSE-I 14



e 73.

A 74.

e 75.

¥ 76.

e 77.

99 78.

TRA F WS WA & et £ 7
(A) 80°gaf uriw
(B) 81° i Zwiw
(©) szgciaﬁ%ﬁﬂ

D) 81,° & e

‘grerE’ Seet o e % e W
%?

(A) g

(B) F&m

(C) FEl

(D) T

"5 P ST ST ST & 7
(A) 2vE ud = g
(B) el T SR IF qG
(©) et g Al g
(D) TAWR FEN

A T HEEIT Wt T ERT FHT
& T 9En H faara g g ?
(A) s

(B) ST

(©) ufmE

(D) fequ aEfEm

frerifipa § § 9 A1 9RA W TEW
o T €2

(A) GREEA T Tk

(B) SHISIIET ¥l ik

(C) HfGE=RT a1 Yo7 SR

(D) T F= YT SR

Frewifera # & o W wES WE W
Hraw ¥ ey R ST & 2

(A) TTE, 52, TR

(B) oA, T, HiesEl

(C) 1, A =

(D) W, Hex, wE

/QJ%.

Which is the standard meridian of India?
(A) 80°East Longitude
(B) 81YEast Longitude

() 82; " East Longitude

D) 8 l; Y East Longitude

At the mouth of which river is the
Sunderban delta formed?

(A) Godavari

(B) Krishna

(C) Kaveri

(D) Ganga

Qn 74,

Qn 75. What is meant by the term ‘Loo’ ?
(A) Cold and dry winds
(B) Strong hot and dry winds
(C) Retreating Mansoon
(1) The Trade winds

Qn 76. Which Continent is divided into almost two
equal parts by the Tropic of capricorn?
NfA) Australia
(:B) Africa
(C) Asia
KDJ South America

7

Qn 77. Which one of the following is nat a tiger
reserve in India -
(A) Sunderban National Park
(B) Kangiranga Natinal Park
(C) Sariska wildlibfe sanctuary
(D) Manas wildlibfe sanctuary

. Which of the following group of crops is
grown in Rabi season?
(A) Raice, Jute, Maize
(B) Pulses Melons Vegitables
(C) Sugarean Tobacco, Tea
(D) Wheat, Peac, Mustard

NTSEAI
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e 79.

W 80,

T 81,

g9 82.

T 83.

T 84,

30 & wom &1 ww oF=n &= Qn 79. What is the name of the Hill station

feaem A wd &2 which is not in Himalayas?

(A) & (A) Ooty

B) =fife (B) Darjecling

(C) ferwem (C) Shimla

(D) Hefierrer (D) Nanital

‘SeEim’ wE? yﬂ.’what is “jet Stream™?

(A) ®B=S™ &z (A) House boat

(B) FAE R I arel IR\ (B) Fast blowing air current of the upper

(C) T TR ’ Atmosphere

(D) EICie (C) Warm ocean current
(D) Small river

IW T F AW FET A BTG y Choose the name of the state which

F TR TAT R ? touches the boundary of chhattisgarh?

(A) SAFyew (A) Andhra Pradesh

(B) feer (B) Bihar

(€) IwREvS (C) Uttrakhand

(D) Tl @® Telangana e

FeffEa A A BT TR IR@H Qu.827 Which one of the following cities has

ForERIE TS % Y W AT emerged as the “Electronic Capital” of

Tt & ? India?

(A) Tt , (A) Delhi

(B) ﬁrrq& (B) Bengaluru

(C) Hrerw , (C) Kolkata

(D) TER » (D) Hyderabad

TS wate few Fw d e &7 yﬂn which country is the Mount Everest
situated?

(A) HIG (A) India

(B YA (B) Bhutan

©) 9 (©) Nepal

(D) € (D) China

ihﬁ?'{ﬁﬁf{ﬁ ¢ ITEA & fora wad }pﬂd’ Which soil is the best for production of

3T et &7 Jute?

(A) @i fazdr (A) Red Soil

(B) et fizdt (B) Black Soil

(€) wieuge fhedt (C) Laterite Soil

(D) el fazd (D) Alluvial Soil

NTSE-II
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9¥ 85,

gg 86.

g 87.

g¥q 88.

e 89.

ardrg i owstE dfaa @
IR~

(A) Tratfa games 8 &

(B) W i I TR

(C) &S i Fateal

(D) ety Fraifaa @ 8

AT § SHA T ST HE & 7

Sl H STAReeRT &1 TaenTH
IITERT &1 ARl 9 e
faarfarsT it HrATfasT §

(A)
(B)
©

oA
(D) S9gad A+t

e A WA o R e
TR 3% WA I T & 7
(A)
(B)

(©
(D) " g

Freriforer i 2 o e Pt e
Tt W v fopan T E ?

(A) TR

(B) Terem

(€) g™
(D) S

y,s{

Qn 86.

Qn87.

Qn 88.

Qn 89.

The Indian constitution is a Republican
constitution because it has ..... ?
(A) anelected Prime minister

(B) afederal form of government
(C) aParliamentery supremacy

(D) an elected President

What is the importance of Public

Opinion in democracy?

(A) Politcal awarenes among people

(B) Control dictatorship of the ruler

(C) Co-ordination between legislative
and executive

(D) All the above ),

Who can call the joint session of both house
of the Parliament and address them?

(A) The Governor

(B) The Prime minister
(@) The President y
(D) The Speaker of Lok Sabha

Which effective tool of the parliament
controls the council of ministers?

(A) Calling attention motion

(B) Adjournment motion

(C) No confidence motion

(D) Asking questions

Which one of the following subjects is
included in the concurrent list?

(A) Trade

(B) Education

(C) Police

(D) Banking

NTSE-Il
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U 90.

¥ 91,

¥ 92.

e 93.

3 F it Fraffera deemd ¥ sl wh
forerg e wfeemedl & fau smifdm
ht et €2

(A) T=EER wd T fAeE

(B) IR

(C) TG

(D) T T feramas

HAET i A HHT 21 T9 | Terw
18 o fopm wfgams d@vies § fean
™ ?
(A)

(B)

©)

(D)

TeeEY & dyw, dwihe @i
WiEHfoa e w1 qeaed wa
feme?

(A)

(B) Ry

(C) TfermeR

(D) FFhR

EEE gig = sAtus S @
B Tt ¥ 7

(A) ¥ TR HAR I3 TIR

52 |f
61 af
86 &l

92 af

(B) Toga a1 w1 AR SR H i
(C) S iR Jega It ol =T
(D) 39 H F g4t

/o,rﬁ.

_Ona,

o

In which system of elected bodies about
one third seats are reserved for
women?

(&) Panchayats and urban bodies

(B) Lok Sabha

(C) Rajya Sabha

(D) State Assemblies

. The Voting age was lowered from 21

years to 18 years according to which
ammendment of constitution?

@) 52nd

(B) 61st

(C) 86th

(D) 92nd

Which is the Headquator of the United
Nation Educational Scientific and
cultural organisation located ....7

(A) Rome
@) Paris
(C) Mexico
(D) Newyork

2z

When does the growth rate of Population

became very high?

(A) Both the birth rate and death rate
remain high

(B) The death rate decreases but the birth

rate remains high

There is reduction in both

All the above

(&
(D)

U 94. oW Tawre= ¥ w0 AW &7 Qn 94, What is meant by division of labour?
(A) afefer fopamai o fomriarwor @) Specialization of ecomonic activity
(B) a:%' TqH B IEG] (B) Production on large scale
(C) ITUEA T 9E AR ST &l (C) Specialization of quantity and
fergmfteroT quality of production
(D) SUEAH | (D) Increase in Production
NTSE-II 19



M 95,

M 96.

M 97.

™ 98.

™ 99.

T 3R gfd o s forl @er =
77

(A) ST=PT

(B) age &l hiFd

(C) ATHeRl =T TIfcreTicwan

(D) T

it o1 ST 9RA § foRR weRR
wE?

(A) T4 X

(B) &I

(C) HAFEI

(D) =T Yok

foifera § 9 formes fo giemmeh
wres, feareg = Suan fapam ST B 2
(A) FfH SR

(B) YEIT
() fasret amE

M) TR

SO ey gfaad e gAr S
§?
(A)
(B)
(C)
(D)

11 o8
11 37T
11 SHat
10 TEEFR

ST ST TN o WH 3738y
A 9 ?

(A) TTCT SETGL T

(B) <TSiEd U9

(C) G S T EE

(D) gfe it

51 100. Freaifra § | # | difta TR

o e Ik §?

(A) TR 1 SR i o I A BT

(B) Aftenl ZRT 9T ShEear O &
T BT

(C) AfFER B Gt TF | HH HEAl

(D) #fteR 19 Fél AT =med

Qn 96.

On97.

Qn98.

®

. What is increased due to the gap

between the demand and supply?

(A) Unemployment

(B) Price of goods

(C) Mobility of Labour

(D) Poverty

Which type of tax is land revenue in
India?

(A) Direct tax
(®) Indirecttax
(C) Income tax
(D) Custom duty

>p

“Hallmark” is used as a logo for which
of the following -

(A} Agricultural Products

(B) Jewellery

(C) Electrical goods

(D) Milk Products

When do we celebrate “Population
day” every year ?
£ 10™July

(B) 11™ August
(C) 11" January
(D) 10™ December

’?&

Who was the first President of the
Indian planning commission -

'(A) Lal Bahadur Shastri

(B) Jagjeevan Ram
(@y Pt Jawahar lal Nehru
(D) Indira Gandhi

Qut00. Which one of the following is the

most appropriate meaning of under
employment?

(A) Workers are not Paid for their work
(B) Workers are working less than what
they are capable of doing

Workers are working in a lazy manner

(©
(D)

Workers do not want to work



